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Lesson5

Objective: Multiply multiplesof 10, 100, and 1,000 by single digits,
recognizing patterns.

Group Count by Multiples of 10 and 100
+ Sevens, stopping to convert at 14 tens, 35 tens, 63 tens, and 70 tens

+ Eights, stopping to convert at 24 hundreds, 40 hundreds, 64 hundreds, and 80 hundreds

+ Nines, stopping to convert at 27 hundreds, 45 hundreds, 63 hundreds, and 90 hundreds

Multiply Units

300%2 = GOO 5,000 % 4 = 720 000

3x2=__  Saythe multiplication sentence in unit form.
Write the answer in standard form. 3,000 x 2{)&10_ 50x4= Z OO
30x2= Say the multiplication sentence in unit form. %3 ZI— 5x8 :}LL

Write the answer in standard form. 5[J><3=J670 SDngzﬂ;OQU
5,000x3 = I!jFUDO 9O x7 = bbo
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Concept Development

Problem 1: Use number disks to represent multiplication patterns.

2onesx4 2tensx4 2hundredsx4 2 thousands x4
2ores x4 =¥

thousands hundreds tens ones
Show 2 ones x 4 on your place value chart. o
Circle each group of 2 ones. > o
Show 2 tens % 4 on your place value chart. m
Circle each group of 2 tens. 0
2 ones x 4 is? ‘3 dNLS thousands | hundreds tens ones
2tens x 4is? 3+en5 .
With your partner, represent 2 hundreds x 4. m
Circle each group of 2 hundreds. o
What did you notice about multiplying 2 hundreds x 4 thousands hundreds tens ones
compared to 2 tens x 47? @
What do you think would happen if we multiplied 2 thousands x 47 @
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thousands hundreds tens ones
X))
a o e
3 ones x 3
thousands tens ones

)]

thousands hundreds tens ones
JL
3 tens x 3 = % tons
20 x 3 =90
thousands hundreds tens ones

3 hundreds x 3 ~ qOO

3 thousands x 3 ° t7'1000
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Problem 2: Numerically represent single-digit numbers times a multiple of 10.

8x2 8x20 8x200 8x2,000

With your partner, solve these multiplication problems in unit form.

8 x 2 ones = Hﬂ pres = Il
8x2tens=__ | fens = |0

8 x 2 hundreds = _lp hundreds = (00
8 x 2 thousands = _ |l thpusands = [, 000

What patterns do you notice?

What happens if we change the unit from 8 x 2 hundreds to 8 hundreds x 2? Does the answer change?

thousands hundreds tens ones thousands hundreds tens ones

"‘ atteavne
n' 'ERELLEN

LA T-% -
L. ¥ T

llp hundreds |y Vundreds

s




5x2 5x20 5x200 5x2,000

5 x 2 ohes = |10 ones = [D

5x21'e.?15= m‘*‘{;né - [UO

1

5 x 2 hundreds = ‘D humdrﬂdSﬁ \ ) ODO

Z

5><21'I'%usands= m H‘tﬂfﬂfdfv - \U|DOD
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Problem 3: Solve a word problem involving finding the sum of two different products
of a single-digit number by a two- and three-digit multiple of 10.

1. Francisco plays a video game and earns 60 points for every coin he collects. He

collected 7 coins. How many points did he earn for the coins that he collected? — = B0
- =79 w WO
'P """ =47 X\

e —— N g1 1] =uv0
_ P
’ 7 A (O O - P Feancisco earogd 420 pons

T S he (ollecyed.
601:4"5 7 X (O’I"E’ns _ L‘i-‘reﬂ%: L}/llo Lo Yoo, CORS \ecreq

2. Francisco also earns 200 points for every level he completes in the game. He )
completed 7 levels. How many points did he earn for the levels that he completed? 7 i:t zﬁm
~ T = 4w
[ = fﬁi = |40
i
- Feascso @arndd HOO potnis
\ 2, DD X 7 J Lo e ‘euels e m;;ﬁm
- J

200 7 hundreds ¥ ] = 4 hundrﬂds

3. What was the total number of points that Francisco earned?

| 400 ~

+ 132 L BT e e
L\'ZO y o % an:'-_ﬁcg ggcneQ g 404 o &&Dﬁ-ﬂlﬁé

1320
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Problem 4: Solve a word problem involving 1,000 times as many.

At a concert, there were 5,000 people in the audience. That was 1,000 times the number of performers.

How many performers were at the concert?

+ \Write an equation to solve for how many performers were at the concert.
5,000 = p x 1,000

+ Solve using a method of your choice.

X ])ODD B 6,000

-5

6@00 = l}OUO = P

5000 = 0 x 1,000

thousands | hundreds tens ones
00000 . A |
|
Fhovsands | hondreds | dens | ones
DOOOQ | 40
_._—-—-_'-'I-"""l--.__‘
Y e e =]
5000 + 1000 = 5

There were 5 Pﬂ'&m&tfﬁ.
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Name

Draw number disks to represent the value of the following expressions.

1.

2x3=

2 times 5 ones is iQ ones.

2x30= D

2 times itemiﬁ Cp %E’hs

Date

wl

W M2

S

00
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3. 2x300= ﬂ) 300
2 times 5 hund”‘fds is (O hundmdg x 2

(000

4. 2x3,000=(0, 00O
2 times_ D Thousands is (o %h\ﬁo&\(\& x 3,002

6,000
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5. Find the product.

210

360

l, 600

a. 20=7-= b. 3x60= c. 3=x400= d. 2x800=
40 | 180 | 1200 | 1,600
e, 7x30= f. B0x6= g. A00=x 4= h. 4x8,000=

37,000

i. 5=30=

120

j. 5x60=

300

k. 5=400=

7,000

. 8,000 =x5-=

0,000

6. Brianna buys 3 packs of balloons for a party. Each pack has 60 balloons. How many balloons does

Brianna have?

|2

LN

Qe

00 x2=pR

130 ballogns
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Jordan has twenty times as many baseball cards as his brother. His brother has 9 cards. How many cards

does Jordan have?

0] x7(0) = 50 cords
1x 2tens = |Btens

The aquarium has 30 times as many fish in one tank as Jacob has. The aquarium has 90 fish. How many

fish does Jacob have?

O‘O""j N D }ans = 9 X tens

Jocab has 3Gy
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Name Date

Draw number disks to represent the value of the following expressions.

1. S5x2= 3|
5 times ones is ones.
2. 5x20=
X

5 times tens is
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3. 5x200-= 200
5 times is . x 5
4. 5x 2,000 = 2,000

times is . x 5
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S.
3

Find the product.

a. 20x9= b. 6x70= c. 7x700= d 3x900=
e. 9x90= f. 4A0x7= g. B00xb6= h. 8x6,000=
i. 5x70= j. 5x80= k. 5x200= l. 6,000 x5=
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At the school cafeteria, each student who ordered lunch gets 6 chicken nuggets. The cafeteria staff
prepares enough for 300 kids. How many chicken nuggets does the cafeteria staff prepare altogether?

Jaelynn has thirty times as many stickers as her brother. Her brother has 8 stickers. How many stickers
does Jaelynn have?

The flower shop has 40 times as many flowers in one cooler as Julia has in her bouquet. The cooler has

120 flowers. How many flowers are in Julia’s bouquet?




